 HELD ON :
03.01.20 II.Q

~ started :

(1) Atno load . (2) At full load
l3) With normal load

(4) With a small load

- 2.The air gap between 8tator and- ]

armature of an electric motor is

kept as small as possible

(1) To get a stronger magnetic
field

(2) To improve tl're a!rclrmlation

(3) Toreacha higher spced of ro-
tation

(4) To make the rotation easier

3. A polythene piece rubbed with
wool is found to have a negative

charge of 3.2 x 17-7 coulomb. Es-
timate the number of elcctrons

transferred.
(1)2 x 10*! (2)2 x 10'2
(3)3x 101! (4)3x1012

4. Coulomb’s law is given by F =
Kq,q,r™ where n is :

M
M 5

3)2 @ *l

8. uapoduveéw mmedfrm

a low potential région to high po- |
- tential region, the clcctric poten- :

tial energy :

(1) Decreases (2) Incmaaes

(3) Remains the same

(4) May increase/decrease
6. When a dielectric slab 'is intro-

duced between the plates of a ca-

pacitor connected to a battery.

(1) Charge on capacitor increases |
(2) Potential difference across the |

(3) capacity remains same
(4) None of these

-7 'Ihevalucofthecuﬂentmthc-_

circuit shown in the following ig-

‘ureis:

il

o AR AR

(1A
13) 0.02 A

(2)0.01 A
(4)0.1'A

8. Specific resistance of copper, sil-

ver and constantan are 1.78 x
106 Q cm, 1076 Q cm and 48 x
106 Q cm respectively. Which is
the best conductor ? :
(1) Copper
(2) Silver
(3) Constantan
(4) Copper and Silver
9 A piece of copper and another of
germanium are cooled from room
temperature to 40°K: The
resistance of :
(1) Each of them decmaaee
(2) Each of them increases
(3) Copper increases, germanium
decreases
' j._'(4) Copper decreases, gumarﬂum
_increases
10. How much current is drawn by
amotnrofOSHPfromﬁﬁOvolt
supply ? -
(1) 1.2A
~(817A ¢
' 11 The commercial unit of electric
enery fsa kllowatt-bour (kwh).
1 kwh is equal to : '

w2 1.4A°

86X 10°3(2) 36X 10°0

L (3134%10°J(4)35 % 10°U
~12.1In an electric iron the wire of
_ nichmme is used because :
-_ (1) It has high meltmg point and
" high value’ df speclﬂc resis-
tance
(2) It can’ be ea.sily c’lrawn into
-wires
@ not oxidised easily when
‘heated'in air -
(4) Al of the above

18. A curfent in a circuit having con- |

stant resistancé is tripled. How
does this ‘affect the power dissi-

()it b
(2) 1t becomes 5 times

(3) It becomes 10 times
(4) 1t becomes 9 times

(4) None'of these |

|RRB CHANDIGARH ASSTT. LOCO PILOT EXA)
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14. Special silicon steel is us:
laminations in power trans!
to reduce :

(1) Eddy current losses
(2) Hysteresis losses
. (3) Copper losses
(4) Both (1) and (2)
18. An inductor may store ene:
(1) Its electric field
(2) Its coils
~ (3) Its magnetic field
(4) Both in magnetic and ¢!
fields
16. The working of a dynamo is
on the principle of :
(1) Heating effect of curres
(2) Magnetic effect of curr
(3) Chemical effect of curr
(4) Electromagnetic induct
17. In an a.c. circuit the curr
(1) Is in phase with the v
(2) leads the voltage
(3) Lags the voltage
~ (4) Any of the above
18. Which of the following qua
remains constant in a stej
transformer ?
(1) Current
~ (2) Voltage
(3) Power
(4) None of these
19. Super high frequency elect
netic waves are used in
Their frequency range is
- (1) 3000 to 30000 MHz
(2) 2000 to 20000 MHz
(3) 30000 to 60000 MHz
(4) None of these
20. When an impurity is dopp:
an intrinsic semiconduct:

conductivity of the semico
tor :

(1) Decreases
(2) Becorties zero
(3) Rerhains &axne
(4) Indteasds

21. In the follmwng figure, the
is acfoes thé terminals A
and‘theigutput is Across
D. Themi the output is :



B - C
k1

A b D

(1) Half wave rectified

12) Full wave rectified

[3) Zero

(4] Same as the input
22. Resistivity of semiconductor de-

pends on

(1] Shape of semiconductor

(2} Length of semiconductor
(3] Atemic nature of semiconduc-

Lor
(4] None of these
23. A bird sitting on a high power

lirwe

(1} Gets killed instantly

12) Gets a mild shock

(31 1s not affected practically
(4] Gels a fatal shock

24. In the circult shown below each |

rapacitor has a capacity of 3pF.
Calculate the quantity of ¢harge
on each capacitor,

(1) 12pC
(3) 10pC"

-2 11pc
{4) None of these

28. When an elegtric train moves'

down a hill, the de motor acts as
(1) dc séries generator '

(2] de: shurit génerator

[3) de shunt motor

{4) None of these .

28, The dimenslonal formula ML’T'“
representa g
(1) Moment of force’ |
{2) Force
(3) Acceleration !

caily gy
(4) Momentum "

27. ﬁnaiﬂlghthm 1
Ung ln it iy gus :
spring balange.
flying. The reading of’ npﬂn;
balance will b

(1) Increase - (2) Decrease .

,[3) Not change (4) Be2ero -~
ﬂl.[.lghtywllﬂbeunltnf

(WTime

mmmmoﬁm

(3) Distance

i4) None of these

28, Two bodies are moving in oppo- '

site direction with speed V. What
Is the magnitude of their relative
vdmﬂ;r?
(no .
3 vy2

v
4 2v

the Hift
(1) Begins togo up
{2) Is going up steadily < . |
{3} Is slowing down, .
H}lnmw
ummmumﬁ
conservation of :
(1) Mass
{2) Energy
{3} Linear momenturn
HMW
8. To impart yellow colour io glass

Mdhﬁﬂnmm
ia mixed ?

(17 Cobalt cocide

'anmmahmm when

L]

(1} NaOH (2} N
B H,0 {4]) Nene of these
34, Which of the following metals is
themabundmmtheunha
crust 7
(1) Alumindum (2) Iron. .
(3 Calchum (4) Potassium
H.ﬂm[admnmhthenumr
of molecules In :
{I]Ommnufamn.tN.T.P.
(2) One mole of a gas
(3) One gram of a gas
ll}mhwmnhm
38. Rice takes longest to cook
{1} In submarine 100 m below the
surface of the sea
{Z) At the sea leve]
(3} At Simla | :
. lil 2 ul lI:E-l

87. Cloudy nights are usually warmer |
than clear ones, because clouds -

(1) Do not radiate heat ‘-

. (2)Do not absarb heat
 [3y Have Tow thermal conduictivity
{4} None of these

: 'I.baclbelmhr.umtof

" (1) Light intensity
{2) Sound intensity
(8 Heat intensity
(4) None of these .
38, The factor that helps to recognise
& person by hia volee is : '
" (1) Loudness (2] Pitch
(3} Intensity  (4) Quality .
40. Which s the oldest breeding
method ?
(1) Hybridization
{2} Selection
:{3) Mutation
{4) Introduction
41. Plant and animals living in an area

. (4) Ecosystem

42. If the plants of the world die, all
the animals will also die due (o
shortage of :
(1) Cold {2) Food
(31 Oxygen - (4) Timber

43. Thé chemical formula of Haematite
s

(1)Fe0,
(31 PeCo,

2) Fe,0,
(4) None of these

#4. Ethanol burns readily In air to

(1) Carbon dioxide
(2) Oxygen
{3) Nitrogen
{4) None of these

48. The chemical formula of baking
Iadtlg
{”H‘:co:l'

- (3 Nacl

(2) NaHCO,
{4) Na,©

' 48, The term GPRS stands for :

(1) General Packet Radar Service
(2) General Post Radar Service
(3)-General Packet Radio Service
(4) None of these

#7.At magnetic poles. the angle of

dip i :
(1)45* (2) ao*
(3)zero (490

48. The rest mass energy of an elec-
tron is
(1) 510 keV  (2) 931 KeV
(3) 510 MeV (4} 931 MeV



49. Which of planet is brighest ?
{1) Mercury  [2) Venus
(3) Marsh (4} Jupiter

B80. Cathode rays were discovered
by : :

(1) JJ. Thomson
(2) Goldstein

(3) Chadwick

(4) Faraday :

B1. The sum of two numbers is 1215
and their HCF is 81. How many
such pairs of numbers ecan be
formed ?

{1]2 2)3
13) 4 45
) 3 5 17
H.Thel'lﬂl‘?nf?-ﬁ and 28 Is :
.Y 1
LT @ 7
3 1
L vy 4 35
83. The least perfect number

which is divisible by 10, 12, 15
and 18 is :
(1) 1600 (2) s00
(3) 2500 (4) 3600

B4. The average welght of 20 students
is 40 kg. If the weight of the

teacher be included the average |

welght is increased by 300 gms.
The weight of the teacher is :
(1149kg  (2) 495 kg
(3) 65 kg (4) 48.5 kg

85. A positive number when de-
creased by 4 Is equal to 21 times
the reciprocal of the number, then
the number is :
(s (2)7
(39 . (4) 8

86. Annual incomes of A and B Is in
the ratlo of 5 : 3 and their annual
expenses bear aratio3: 1. Ifeach
of them saves Rs. 600 at the end
“of the year, the annual income of
Als; L7y ¥
(1) Rs. 1200 [2) Rs. 1400
13) Rs. 1500 (4] Rs. 1600

§7. 95 men had provisions for 200
days. After 5 days 30 men died
due to an epldemic. The remain-
ing food will last for how many
days ?,
(1) 200
{3) 285

]

12) 180
{4) None of these

88. A, B and C enter Into a partner-
ship with a certain capital in
which A's contribation is Rs.
10000. If out of total profit of Rs,
1000, A gets Rs. 500, B gets Rs.
300 then C's capital is : -
(1) Rs. 4000 (2} Rs. 3600
(3) Rs. 4400 (4) Rs. 4800

B88. A mbxture contains alechol and
water in the ratlo 4 : 3. If 5 litres
of water is added to the mixture,
the ratio becomes 4 : 5. The guan-
lity of alcohol in the given mix-
ture is :

(1) 10 litres  (2) 12 litres
(3) 11 litres  {4) 15 litres

80. A number exceeds 20% of ii-self
by 40. The number is :
{1)50 . (2) 60
(3) 320 (4) 80

81. Ram is 4 times as old as his son.
Four years hence, the sum of their
ages will be 43 years. The present
age of the son is :

(1y3years  (2) 5 years
(3) 6years  (4) 7 years,

| 82. The ages of two person, differ by

20 years. If 5 years ago, the el

der one be 5 times as old as the

younger ane their present ages (in

years) are respectively.

(1) 30,10 (2) 20,10

(3) 35,15 (451,17 _
63. 05+04+05+07 Isequal to:

I 2
(1) 15 2 23

3 ot
o 3; C4) 24

84.1f Joo3x03xa = 0.3 x 0.03 x

,;'Emummeﬂ%u-.

mos (2) 0.00
(30.009  (4)0.0009
8. The sum of 275+ 3.78 Is :
(1) 5.53 i2) 353
3 Ts3 4) T.43
88. The value of

3 1 1 [,

2“ +22 +2!_L+JJ 2"-:" hmu&]
to:

(1)1

(3)2

2)-1
(4) -2

67, 24 2 +.....1,. !
:E 2+ﬁ

equal to:
(4 [l
(33 (41
I
88. The value o Toon =
(1] 1.4 (2 1.
(3) 1.267 (41 b 2
68. The sum of
J0.0001 + 00081 + Y
©/0.000009 s :
(1) 0.359 (210501
3 0.543 (4] 0154

T0. Naresh secured !y o
Hindl, 680% in 1 b o

in Maths as we. -

i

What were his (0! 10k
maximum marks oo
each of these 4 sul o~ .

(1) 120
(3) 150

(21 105
(4) 2ut)

71.The perimeter of i
cm. The length of (b

which is 10 cm wicle an

equal to that of 11

1
1) 143 om

(3) 12% cm

(1

CTN

72.1f a man can wall 1o

4

hour, how long woul? it

Olhcr.manwalkm_u.l t... |

3
4— hours walkiny 11

hour to walk there ol

1
10=
(1) U'shrs

(3) B%m (4] ln";_ I
73. Ina train accident 10

(2) :

sengers died L?‘I'II_T.iIIL sl

of the rest, later in (1!

Ift

i ﬂlﬁﬁ‘ dfc.:_.'.,;.—;

171 . How LY it
 there ?

1) 2000~
(3) 2040

[2) 1o
(4} 150000



